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SN HEE
Bu: oigel 29
Sl BEYUSEA 2T L AISH S4 (ol @)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
= 5,078
= 181,435
olsAgl XA 16,400 16,400 0
301 dEtEdZ 2,200 2,200 0
12 JIEtE &2 2,200 2,200 0]
OESA8UHE 0/ =21 H&
100,000& * 8Y 800
OAEAYUHA RS A1 HE
100,000& * 149 1,400
307 212t01 & 14,200 14,200 0
04 QIZHSHAFAIE 2 X 14,200 14,200 0
oogigttl Ji=dAUsg 9,200,000& 9,200
Oocgregtl /25 5,000,000 5,000
S$EY? SHXA 153,185 149,513 3,672
308 AtXI S M SO0l & 98,600 120, 188 N21,588
oBIZEEXNIAZIAET 98,600 120, 188 N 21,588
OSEgegas 29| 50,000,000& 50,000
OXNgga™ X 4,000
-F=0lAID E2H| 1,000,000& 1,000
-0H 2 RJ/820 SXNSA 200 £ Hdld]
3,000,000 3,000
OussdiA 29,500
-0lel = =8 dxs 14,000,000& 14,000
-AME S P20l 1,000,000& 1,000
-201/88 45 dis 14,000,000& 14,000
-2l =24l 500,000& 500
SFUH2IXNA 15,100
-y 22 234 1,200,000& = 7JH 2 8,400
-0l H 2 f&2sHH] 1,600,000& 1,600
-0FA3 2 0H 500 = 2,000H 1,000
-S&J| X4l 800,000 800
-oiglz2 s 228380 2xs
275,000 » 128 3,300
401 Al HI L RO 19,470 0 19,470
01 A& HI 19,470 0 19,470
OM48HU SAHA ZHSA 19,470,000& 19,470
403 ItXISHHSA201 A 35,115 29,325 5,790
B olblZs8XdNEEX 35,115 29,325 5,790
OXNgegAA™ X 35,115
-NEE Y 251,000& = 86K 21,586
-0 15,0003 * 14404 2,160
- | 291,000& * 404 1,164
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M HAESZ
Bu: oigel 29
C: SELACM =HE L AMIHH S4 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
-OX gt EEI] 300,000 = 2504 7,500
-GPS 440,000& = 64 2,640
-M2L+ & Bt 65,0002 * 104 65
flbdlzZzns U X 16,928 22,400 N5,472
< 5,078
e 11,850
403 MtXISHH S0l & 16,928 22,400 N5,472
< 5,078
s 11,850
3 obZEdXENE=E]XR 16,928 22,400 A5, 472
Otldlzws ZHIX& 16,928,000& 16,928
< 5,078
s 11,850
ot& 2tel 6,748,140 7,533,220 785,080
< 200,000
[ia 6,548,140
L5t X 2el 2,198,740 571,520 1,627,220
< 200,000
[ia 1,998,740
ANgote A2l AML (B X) 200,000 170,000 30,000
< 200,000
401 AIEHI L 2CHYI 200,000 170,000 30,000
< 200,000
01 A& HI 200,000 170,000 30,000
OXgstd sXl2c 200,000, 000& 200,000
< 200,000
Xgotd 22l At 1,095,540 399,520 696,020
201 Lt 2| 45,540 29,520 16,020
01 At 22/l 9,000 6,000 3,000
Oogzter X 9,000, 000& 9,000
02 22224l 36,540 23,520 13,020
Otl=S=2 &8JIR23 9,000,000& 9,000
Oota & 2ZHAIIHHI2H(CCTV) &Il - SM RS
135,000& = 17JH4 + 1200 & 27,540
401 Al HI L 2 THHI 1,050,000 370,000 680,000
01 A& Bl 950,000 300,000 650,000
OotdH &FEH| 950,000
-9 S¢ StdH S#FEH 150,000, 000& 150,000
28 - Z0|d ot HAALY
800,000,000& 800,000
03 Al S CHHI 100,000 70,000 30,000
Ootd&E4d 2 otadel FHX 100,000,000 100,000
SR Marzel (st&) 3,200 2,000 1,200




2N

PSIEL ]
@2 XNgstE S 2 (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
201 Bt A | 3,200 2,000 1,200
01 AP 2t 2l Yl 3,200 2,000 1,200
O=ZgMAa & « SI| =2 3,200,000 3,200
StE ASE TS HEALY 900,000 0 900,000
401 Al HI L 2 0HHI 900,000 0 900,000
01 A& HI 900,000 0 900,000
OstdE A&SE=7A HEAY 900,000,000& 900,000
A0HE S X2l 4,418,400 6,110,200 A 1,691,800
AOIE KA 22 ALE 918,400 412,200 506,200
201 LEt2 | 7,200 6,600 600
01 AFR2t2l bl 7,200 6,600 600
OEXOIEHE22IAAEY S22
7,200,000& 7,200
202 04| 7,600 5,600 2,000
01 2LHOHI 7,600 5,600 2,000
Odtd M ER=& bl 7,600,000 7,600
401 Al HI L 201 903,600 400,000 503,600
01 A& HI 600,000 100,000 500,000
O4ctd DIZSK B2 100,000, 000& 100,000
OAdt& g2l A 500,000,000& 500,000
03 A& 20 b 303,600 300,000 3,600
OdtdEAL L otadEe EUl Xt
300,000,000& 300,000
OL4otd A2l Ar 500,000,000& * 0.72% 3,600
AGHE Y (A D) (HEAY) 1,000,000 630,000 370,000
401 Al B2 2 0HHI 1,000,000 630,000 370,000
01 A& HI 1,000,000 630,000 370,000
OALd=z A6 HUIAIY 1,000,000,000& 1,000,000
AGHE™EHI(XZB)(HEAY) 500,000 0 500,000
401 Al HI L 2 0HHI 500,000 0 500,000
01 A& HI 500,000 0 500,000
O&XZ=AGHE HUIAY 500,000,000& 500,000
ASIEEHI (R FElA)(HEAY) 1,000,000 0 1,000,000
401 Al HI L £ 0HHI 1,000,000 0 1,000,000
01 A& HI 1,000,000 0 1,000,000
OFFe|a st HHIAIE 1,000,000,000& 1,000,000
AOIEFH (&2 E)(MEAIY) 1,000,000 0 1,000,000
401 Al HIL 200 1,000,000 0 1,000,000




AN AASEN
M otzel
& ASHE |2l (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 1,000,000 0 1,000,000
O&&gAdtd ALY 1,000,000, 000& 1,000,000
TH off & = 131,000 681,200 A 550,200
THol =7 2tel 131,000 100,700 30,300
201 L4l 31,000 700 30,300
01 At 22l 31,000 700 30,300
OMat=7=&XNEN M= 1,000,000 1,000
O=ole N 30,000,000& 30,000
302 Ol THoH E & = 50,000 50,000 0
02 QIZHITHOH R EFRES 2N = 50,000 50,000 0
OXtATHH At & Tol XIS
50,000,000& 50,000
401 A& HI L 20l 50,000 50,000 0
03 AIE 2 THHI 50,000 50,000 0
ONdisS=+ ZHxt 50,000,000& 50,000
HH2IZH (A SZ ) 36,955 35,900 1,055
Jl2dd(erdsZn) 36,955 35,900 1,055
o123l 36,955 35,900 1,055
201 ¢er24] 30,355 28,844 1,511
01 At 22l 28,670 27,599 1,071
O el 6,890,000& 6,890
O= &l 9,500,000& 9,500
O=AD Xtz 330,000& = 104 = 12& 3,960
O&=D Xz 40,0003 * 200 » 12& 960
OHEHH 22F P4 7,360
-ZofZeH 6,160
- EUY 440,000 * 1CH = 45 = 33| 5,280
cd 440,000 = 10H = 23] 880
-YotZely 200,000& = 3CH = 23] 1,200
02 =224l 1,685 1,245 440
O#HFHHl FXE=HI 1,685
-GS AR 2121 1,300,000& = 21CH * 5% 1,365
-ZgH 4,000,000 * 4CH * 2% 320
202 044l 2,400 1,680 720
01 SLHOIYI 2,400 1,680 720
OtdEsZY 2= 0l 2,400,000 2,400
203 ¥ S =&l 4,200 4,200 0
04 BN2HALE A 4,200 4,200 0
OFRN2IYS =2 350,000& = 12& 4,200
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SM: HHEZD
M YRS
Lo

el

SA - ZE-B(EA) - NRAY - B S il &t o il
HRas(tdsZ) 1,076,000 1,018,000
HWEAHHXKES(AES2) 1,076,000 1,018,000
He2edias M3 1,076,000 1,018,000
702 J1SHES 1,076,000 1,018,000
01 JI3dE= 1,076,000 1,018,000
OM:t2eldIg dE= 1,076,000, 000& 1,076,000




